1. ¥84
EHL S N T I e s gy e S (e T
BT AT JE B VG ER L R BB TR N

1) FEEFA A 4 34 7) TR UNGTS
2) FEBHA JIRES PR ILCRRD T F AT AR 8) H X 22X
3) EEBES 22875760020001 9) Wl - B
4) By AR (Ml L2 ET) ONEE 10) BEHENA A 4F 3H
5) AR L 1) Jrgsse 55 0%
6) JE1THIH 365 H[H B &Ff0 4% 47 1H 12) HfffiE 4 A FF 44 3 A
(447) £ & 54 3A31H 13) AHhEMERA FF 44 3 A
(# mEH) = £ A A 14) AEHASEEHE |
15) RiSKVEH M
BaoLz ES TakS
3. PHAH
1) THAA 2) H 3) HoO#MSy 4) HEA

-1- FEhszdmd v E TR



RE R

EBL | BN 4 FE R B VG LRI AN E BHER R E i BaE
H H g B ERK
EHH - THE - FRl - Fl50 HAE BT & B AFA pgeeih SEEHE fi
FEHTEEMERL
= 1 19, 094, 500
AT BHERK
= 1 19, 094, 500
Heffrg B ERK
=X 1 19, 094, 500
PR RS B 1 &
# 200 25, 490 5, 098, 000
SRR B 2 &
# 1, 500 9,331 13, 996, 500
3@
= 1 984, 100
Him (REER)
= 1 984, 100
o
= 1 984, 100

FEhszdmd v E TR



RE R

EBL | BN 4 FE R B VG LRI AN E BHER R E i BaE
HH Bi i
TEHH - TR - f - M) HAE BT & B AFA R HE SEEHE fi
rad 1 5
= 984, 100
ERERE
= 346, 495
[R5 ¢
= 346, 495
T AL
= 126, 495
i (FFHE - BmRE) 2 =
= 126, 495
CREDE SN0 % ¢
= 220, 000
CRADE S iSD% ¢ 3 5
= 220, 000
EEEAM (F oM< )
= 20, 425, 095

FEhszdmd v E TR



RE R

EBL | BN 4 FE R B VG LRI AN E BHER R E i ETER
HH Z O AT
TEHH - TR - f - M) HAE BT & B AFA R HE A AEE TR fi

Z O F AT

= 10, 812, 326
— A

= 16, 812, 579
SE M

= 48, 050, 000
THE B %0

= 4, 805, 000
EWZReE

= 52, 855, 000

FEhszdmd v E TR



N = iﬁ Al 4 A 2022. 03
/ﬁ( W :R SEEMER | 2022. 03
H = SRR 1. 000-0000-0000-0000-0000-1-0 0
] 1= Tad
HH LW - B A HAL s HAT 448 T L
= 984, 100
984, 100
= iﬁ B 6 FH AF H 2022. 03
yﬁk W 5] S AE R |2022.03
H = FESHEEIER | 1.000-0000-0000-0000-0000-1-0 0
] 2 = ik (R L - winE)
HHE LT - B FM HAAT e HAfff BHE T
BN ME
= 20, 078, 600
i (RE L - fEnE)
2 X 0. 0063
= 126, 495
126, 495

FEhszdmd v E TR



Al 4 A 2022. 03

AR AR A 2022. 03
SRR 1. 000-0000-0000-0000-0000-1-0 0

::%5
I

1 % W F

3 5 R VER
THH LW - B A HAL B HAf x| T L
EE A
X 1 20, 078, 600
CERD % ST D % ¢ F OO ER
5. IXEANE (FF)0.38
= 1 220, 000| (F-HA&mYID $#£70)
220, 000

FEhszdmd v E TR



B A 4F A
/fﬂﬁ 2% S I
SRR 1. 000-0000-0000-0000-0000-1-0 0
H 15 RREERE . y
HAAT 'S o AT
25, 490
HH LW - B HAL s HAT x| T L
B YR (= H 3 5
e 1 25, 490
B
Mk
B A 4E A
/fﬂﬁ 2% S A
5 R Rk 1. 000-0000-0000-0000-0000-1-0 0
H 2 5 GIRRIEAENE . y
HAAT % = AT
9,331
HHE LT - B HAAT e HAfff T
SRR B 4 =
e 1 9,331.2
HA
M

FEhszdmd v E TR



